THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid MP-0537 PH II Ended At Jun 7, 2023 10:00:00 AM CDT CONSTRUCTION/CITY - Southern Oaks Park Pedestrian Bridge

Company:	Cimarron Construction Company, LLC	Brewer Construction Oklahoma LLC	Haskell Lemon Group, LLC
MP-0537 PH. II	\$298,523.50	\$330,734.50	\$379,887.15
TOTAL BID:	\$298,523.50	\$330,734.50	\$379,887.15

Company:	Wynn Construction Co., Inc	C-P Integrated Services	Downey Contracting, L.L.C.
MP-0537 PH. II	\$383,851.40	\$509,861.00	\$549,150.50
TOTAL BID:	\$383,851.40	\$509,861.00	\$549,150.50

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #MP-0537 PH II - Southern Oaks Park Pedestrian Bridge

Start Date May 10, 2023 7:51:23 AM CDT Awarded Date Not Yet Awarded

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$5.00	1 / cubic yard	\$5.00	Y	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$35.00	1 / cubic yard	\$35.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services	First Offer - \$44.00	1 / cubic yard	\$44.00	Y	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$48.00	1 / cubic yard	\$48.00	Y	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$160.00	1 / cubic yard	\$160.00	Y	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$567.16	1 / cubic yard	\$567.16	Y	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Bid Bor			

MP-0537 PH II01-02 MP-0537 PH. II: UNCLASSIF	ED BORROW				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$30.00	297 / cubic yard	\$8,910.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Brewer Construction Oklahoma LLC	First Offer - \$37.00	297 / cubic yard	\$10,989.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
C-P Integrated Services	First Offer - \$45.50	297 / cubic yard	\$13,513.50		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Haskell Lemon Group, LLC	First Offer - \$56.45	297 / cubic yard	\$16,765.65		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Downey Contracting, L.L.C.	First Offer - \$85.00	297 / cubic yard	\$25,245.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
Wynn Construction Co., Inc	First Offer - \$115.00	297 / cubic yard	\$34,155.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

MP-0537 PH II01-03 MP-0537 PH. II: CONCRETE CURB (8 INCH BARRIER-INTEGRAL)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Brewer Construction Oklahoma LLC	First Offer - \$56.00	8 / linear feet	\$448.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

Cimarron Construction Company, LLC	First Offer - \$60.00	8 / linear feet	\$480.00	Y
Product Code:	Supplier Product Code:			
Agency Notes:		Supplier Notes:		
Wynn Construction Co., Inc	First Offer - \$77.00	8 / linear feet	\$616.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
C-P Integrated Services	First Offer - \$89.50	8 / linear feet	\$716.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Downey Contracting, L.L.C.	First Offer - \$95.00	8 / linear feet	\$760.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$335.40	8 / linear feet	\$2,683.20	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

MP-0537 PH II01-04 MP-0537 PH. II: TRAFFIC STRIPE (MULTI-POLY)(4 INCH WIDE)(WHITE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Brewer Construction Oklahoma LLC	First Offer - \$6.00	177 / linear feet	\$1,062.00		Υ		
		Supplier Product Code: Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$12.00	177 / linear feet	\$2,124.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$12.00	177 / linear feet	\$2,124.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$18.50	177 / linear feet	\$3,274.50		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
C-P Integrated Services	First Offer - \$25.00	177 / linear feet	\$4,425.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$29.00	177 / linear feet	\$5,133.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:				

MP-0537 PH II01-05 MP-0537 PH. II: CLEARI	NG ANI	O GRUBBING				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC		First Offer - \$6,000.00	1 / lump sum	\$6,000.00		Υ
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
C-P Integrated Services		First Offer - \$12,150.00	1 / lump sum	\$12,150.00		Υ
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Wynn Construction Co., Inc		First Offer - \$16,000.00	1 / lump sum	\$16,000.00		Y
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Haskell Lemon Group, LLC		First Offer - \$16,756.73	1 / lump sum	\$16,756.73		Υ
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Brewer Construction Oklahoma LLC		First Offer - \$26,003.00	1 / lump sum	\$26,003.00		Υ
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Downey Contracting, L.L.C.		First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Υ
-						

bid #MP-0537 PH II -Southern Oaks Park

City of Oklahoma City and its Trusts

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

MP-0537 PH II01-06 MP-0537 PH. II: REMOVAL OF	SIDEWALK				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Brewer Construction Oklahoma LLC	First Offer - \$23.00	53 / square yard	\$1,219.00		Y
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:			
Cimarron Construction Company, LLC	First Offer - \$25.00	53 / square yard	\$1,325.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Wynn Construction Co., Inc	First Offer - \$30.00	53 / square yard	\$1,590.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
C-P Integrated Services	First Offer - \$38.00	53 / square yard	\$2,014.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Haskell Lemon Group, LLC	First Offer - \$66.54	53 / square yard	\$3,526.62		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Downey Contracting, L.L.C.	First Offer - \$108.00	53 / square yard	\$5,724.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

MP-0537 PH II01-07 MP-0537 PH. II: REMOVAL OF CURB AND GUTTER							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC	First Offer - \$6.00	8 / linear feet	\$48.00		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
C-P Integrated Services	First Offer - \$27.00	8 / linear feet	\$216.00		Y		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$30.00	8 / linear feet	\$240.00		Y		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$88.52	8 / linear feet	\$708.16		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Brewer Construction Oklahoma LLC	First Offer - \$94.00	8 / linear feet	\$752.00		Y		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$103.00	8 / linear feet	\$824.00		Y		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					

MP-0537 PH II01-08 MP-0537 PH. II: 5 INCH CONCRETE SIDEWALK (REINFORCED)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC	First O	ffer - \$100.00	60 / square yard	\$6,000.00		Υ		
Product Code:			Supplier Product Code	:				
Agency Notes:			Supplier Notes:					
Brewer Construction Oklahoma LLC	First O	ffer - \$125.00	60 / square yard	\$7,500.00		Υ		
Product Code:			Supplier Product Code	:				
Agency Notes:			Supplier Notes:					
C-P Integrated Services	First O	ffer - \$136.00	60 / square yard	\$8,160.00		Υ		
Product Code:			Supplier Product Code	:				

Agency Notes:		Supplier Notes:		
Downey Contracting, L.L.C.	First Offer - \$138.00	60 / square yard	\$8,280.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Wynn Construction Co., Inc	First Offer - \$155.00	60 / square yard	\$9,300.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$201.25	60 / square yard	\$12,075.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

MP-0537 PH II01-09 MP-0537 PH. II: TYPE I-A	FILTER	BLANKET				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Brewer Construction Oklahoma LLC		First Offer - \$62.00	49 / ton	\$3,038.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Haskell Lemon Group, LLC		First Offer - \$69.46	49 / ton	\$3,403.54		Υ
Product Code:	t Code:			de:		
Agency Notes:			Supplier Notes:			
Wynn Construction Co., Inc		First Offer - \$75.00	49 / ton	\$3,675.00		Y
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
C-P Integrated Services		First Offer - \$80.00	49 / ton	\$3,920.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$92.00	49 / ton	\$4,508.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Downey Contracting, L.L.C.		First Offer - \$160.00	49 / ton	\$7,840.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			

MP-0537 PH II01-10 MP-0537 PH. II: TYPE I-A PLAIN	RIPRAP				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$85.05	167 / ton	\$14,203.35		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$97.00	167 / ton	\$16,199.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$125.00	167 / ton	\$20,875.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$132.00	167 / ton	\$22,044.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C-P Integrated Services	First Offer - \$145.00	167 / ton	\$24,215.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$155.00	167 / ton	\$25,885.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			

MP-0537 PH II01-11 MP-0537 PH. II: ADA CURB RAMP						
Supplier	Unit Price Qty/Unit	Total Price	Attch.	Docs		

C-P Integrated Services	First Offer - \$131.00	7 / square yard	\$917.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$175.00	7 / square yard	\$1,225.00	Y	
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$275.00	7 / square yard	\$1,925.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$375.00	7 / square yard	\$2,625.00	Y	
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$400.00	7 / square yard	\$2,800.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$663.23	7 / square yard	\$4,642.61	Y	
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

MP-0537 PH II01-12 MP-0537 PH. II: TACTILE WAR	NING DEVICE-NEW				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$31.40	12 / square foot	\$376.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	1		
C-P Integrated Services	First Offer - \$45.00		\$540.00		Υ
		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$55.00	12 / square foot	\$660.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$62.00	12 / square foot	\$744.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$75.00	12 / square foot	\$900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Brewer Construction Oklahoma LLC	First Offer - \$125.00	12 / square foot	\$1,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		

MP-0537 PH II01-13 MP-0537 PH. II: SOLID SLAB SODDING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Brewer Construction Oklahoma LLC	First Offer - \$6.00	190 / square yard	\$1,140.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
C-P Integrated Services	First Offer - \$7.00	190 / square yard	\$1,330.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$8.00	190 / square yard	\$1,520.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$9.00	190 / square yard	\$1,710.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$12.00	190 / square yard	\$2,280.00		Υ		

Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$23.13	190 / square yard	\$4,394.70	Υ
Product Code:	·	Supplier Product Code:		
Agency Notes:		Supplier Notes:		

MP-0537 PH II01-14 MP-0537 PH. II: REMOVING TF	REES 19 INCH TO 24 INCH I	N DIAMETER			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$1,030.78	5 / each	\$5,153.90		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes: Brewer Construction Oklahoma LLC	First Offer - \$1,225.00	Supplier Notes: 5 / each	\$6,125.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
C-P Integrated Services	First Offer - \$1,550.00	5 / each	\$7,750.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Downey Contracting, L.L.C.	First Offer - \$2,150.00	5 / each	\$10,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$4,600.00	5 / each	\$23,000.00		Υ
		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$5,500.00	5 / each	\$27,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

MP-0537 PH II01-15 MP-0537 PH. II: TEMPORARY S	ILT FENCE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Brewer Construction Oklahoma LLC	First Offer - \$4.00	265 / linear feet	\$1,060.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
C-P Integrated Services	First Offer - \$7.00	265 / linear feet	\$1,855.00		Υ
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$8.00	265 / linear feet	\$2,120.00		Υ
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$8.50	265 / linear feet	\$2,252.50		Υ
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$12.00	265 / linear feet	\$3,180.00		Υ
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$23.55	265 / linear feet	\$6,240.75		Υ
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			

MP-0537 PH II01-16 MP-0537 PH. II: STRUCTURAL EXCAVATION						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$30.00	46 / cubic yard	\$1,380.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$34.56	46 / cubic yard	\$1,589.76		Υ	
Product Code:		Supplier Product Cod	le:			

Agency Notes:		Supplier Notes:		
C-P Integrated Services	First Offer - \$42.00	46 / cubic yard	\$1,932.00	Y
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
Brewer Construction Oklahoma LLC	First Offer - \$50.00	46 / cubic yard	\$2,300.00	Υ
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
Wynn Construction Co., Inc	First Offer - \$78.00	46 / cubic yard	\$3,588.00	Υ
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
Downey Contracting, L.L.C.	First Offer - \$175.00	46 / cubic yard	\$8,050.00	Υ
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		

MP-0537 PH II01-17 MP-0537 PH. II: APPROACH SI	LABS					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Wynn Construction Co., Inc	First Offer - \$173.00	9.8 / square yard	\$1,695.40		Y	
		Supplier Product Code: Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$225.00	9.8 / square yard	\$2,205.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Brewer Construction Oklahoma LLC	First Offer - \$351.00	9.8 / square yard	\$3,439.80		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$514.50	9.8 / square yard	\$5,042.10		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$551.50	9.8 / square yard	\$5,404.70		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
C-P Integrated Services	First Offer - \$700.00	9.8 / square yard	\$6,860.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

MP-0537 PH II01-18 MP-0537 PH. II: STRUCTURA	L CONCRETE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Downey Contracting, L.L.C.	First Offer - \$1,100.00	17.5 / cubic yard	\$19,250.00		Υ
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$1,194.00	17.5 / cubic yard	\$20,895.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$1,548.30	17.5 / cubic yard	\$27,095.25		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$1,800.00	17.5 / cubic yard	\$31,500.00		Υ
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$2,101.00	17.5 / cubic yard	\$36,767.50		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
C-P Integrated Services	First Offer - \$2,725.00	17.5 / cubic yard	\$47,687.50		Υ
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			

MP-0537 PH II01-19 MP-0537 PH. II: REINFORCING S	TEEL					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$2.00	1880 / pound	\$3,760.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
Brewer Construction Oklahoma LLC	First Offer - \$3.00	1880 / pound	\$5,640.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
C-P Integrated Services	First Offer - \$3.00	1880 / pound	\$5,640.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$3.00	1880 / pound	\$5,640.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$3.31	1880 / pound	\$6,222.80		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$5.50	1880 / pound	\$10,340.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				

MP-0537 PH II01-20 MP-0537 PH. II: DEEP PENETR	ATING WATER REPELLEN	NT			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$40.47	22 / square yard	\$890.34		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$46.00	22 / square yard	\$1,012.00		Y
Product Code:		Supplier Product Code:	1		
Agency Notes:		Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$64.00	22 / square yard	\$1,408.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$74.00	22 / square yard	\$1,628.00		Υ
Product Code:		Supplier Product Code:	1		
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$135.00	22 / square yard	\$2,970.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C-P Integrated Services	First Offer - \$155.00	22 / square yard	\$3,410.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

MP-0537 PH II01-21 MP-0537 PH. II: HANDRAIL (GALVANIZED) (3 INCHES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$302.00	14.4 / linear feet	\$4,348.80		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Brewer Construction Oklahoma LLC	First Offer - \$313.00	14.4 / linear feet	\$4,507.20		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$375.00	14.4 / linear feet	\$5,400.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
C-P Integrated Services	First Offer - \$890.00	14.4 / linear feet	\$12,816.00		Y				

Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
Haskell Lemon Group, LLC	First Offer - \$979.64	14.4 / linear feet	\$14,106.816		Υ
Product Code:		Supplier Product Code	2 :		
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$1,850.00	14.4 / linear feet	\$26,640.00	Υ	Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

MP-0537 PH II01-22 MP-0537 PH. II: CLSM BACKF	FILL					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC		First Offer - \$220.00	14.4 / cubic yard	\$3,168.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Haskell Lemon Group, LLC		First Offer - \$300.16	14.4 / cubic yard	\$4,322.304		Y
Product Code:			Supplier Product Code:	:		
Agency Notes:			Supplier Notes:			
Downey Contracting, L.L.C.		First Offer - \$350.00	14.4 / cubic yard	\$5,040.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
C-P Integrated Services		First Offer - \$390.00	14.4 / cubic yard	\$5,616.00		Y
Product Code:			Supplier Product Code:	}		
Agency Notes:			Supplier Notes:			
Brewer Construction Oklahoma LLC		First Offer - \$580.00	14.4 / cubic yard	\$8,352.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Wynn Construction Co., Inc		First Offer - \$875.00	14.4 / cubic yard	\$12,600.00		Υ
Product Code:			Supplier Product Code:	:		
Agency Notes:			Supplier Notes:			

MP-0537 PH II01-23 MP-0537 PH. II: PILES FURNIS	HED (HP 12X53)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$65.00	235 / linear feet	\$15,275.00		Υ	
Product Code:		Supplier Product Code	: :			
Agency Notes:		Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$75.00	235 / linear feet	\$17,625.00		Υ	
Product Code:		Supplier Product Code	: :			
Agency Notes:		Supplier Notes:				
C-P Integrated Services	First Offer - \$120.00	235 / linear feet	\$28,200.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$155.00	235 / linear feet	\$36,425.00		Υ	
Product Code:		Supplier Product Code	: :			
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$161.09	235 / linear feet	\$37,856.15		Υ	
Product Code:		Supplier Product Code	: :			
Agency Notes:		Supplier Notes:				
Brewer Construction Oklahoma LLC	First Offer - \$174.00	235 / linear feet	\$40,890.00		Υ	
Product Code:		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				

MP-0537 PH II01-24 MP-0537 PH. II: PILES DRIVEN (HP 12X53)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C-P Integrated Services	First Offer - \$50.00	235 / linear feet	\$11,750.00		Υ			
Product Code:		Supplier Product Code	e:					

Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$56.94	235 / linear feet	\$13,380.90	Y
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Brewer Construction Oklahoma LLC	First Offer - \$74.00	235 / linear feet	\$17,390.00	Υ
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$75.00	235 / linear feet	\$17,625.00	Y
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Downey Contracting, L.L.C.	First Offer - \$150.00	235 / linear feet	\$35,250.00	Υ
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Wynn Construction Co., Inc	First Offer - \$183.00	235 / linear feet	\$43,005.00	Y
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

MP-0537 PH II01-25 MP-0537 PH. II: PILE SPLICE H	-PILE (NON-BIDDABLE)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$1.00	1 / each	\$1.00		Υ
		Supplier Product Co Supplier Notes:	ode:		
Haskell Lemon Group, LLC	First Offer - \$500.00	1 / each	\$500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$770.00	1 / each	\$770.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services	First Offer - \$775.00	1 / each	\$775.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Downey Contracting, L.L.C.	First Offer - \$900.00	1 / each	\$900.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Brewer Construction Oklahoma LLC	First Offer - \$1,250.00	1 / each	\$1,250.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

MP-0537 PH II01-26 MP-0537 PH. II: DECK AREA SI	EALED (FLOOD COATS)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Brewer Construction Oklahoma LLC	First Offer - \$32.00	57 / square yard	\$1,824.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Wynn Construction Co., Inc	First Offer - \$46.00	57 / square yard	\$2,622.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Haskell Lemon Group, LLC	First Offer - \$86.73	57 / square yard	\$4,943.61		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Cimarron Construction Company, LLC	First Offer - \$90.00	57 / square yard	\$5,130.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Downey Contracting, L.L.C.	First Offer - \$131.00	57 / square yard	\$7,467.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:			

C-P Integrated Services	First Offer - \$155.00 57 / square yard	\$8,835.00	Υ
Product Code:	Supplier Product Code:		
Agency Notes:	Supplier Notes:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Brewer Construction Oklahoma LLC	First Offer - \$110,288.00	1 / each	\$110,288.00		Υ
		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$117,000.00	1 / each	\$117,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Wynn Construction Co., Inc	First Offer - \$120,000.00	1 / each	\$120,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC	First Offer - \$139,327.39	1 / each	\$139,327.39		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Downey Contracting, L.L.C.	First Offer - \$194,000.00	1 / each	\$194,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
C-P Integrated Services	First Offer - \$280,000.00	1 / each	\$280,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

MP-0537 PH II01-28 MP-0537 PH. II: REMOVAL OF	EXISTING BRIDGE STRUCTU	JRE			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C-P Integrated Services	First Offer - \$11,000.00	1 / lump sum	\$11,000.00		Υ
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:			
Brewer Construction Oklahoma LLC	First Offer - \$14,700.00	1 / lump sum	\$14,700.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Wynn Construction Co., Inc	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Downey Contracting, L.L.C.	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Haskell Lemon Group, LLC	First Offer - \$26,194.34	1 / lump sum	\$26,194.34		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

MP-0537 PH II-01-29 MP-0537 PH. II: 6 INCH PERFORATED PIPE UNDERDRAIN ROUND						
Supplier	pplier Unit Price Qty/Unit Total Price Attch.					
Brewer Construction Oklahoma LLC	First Offer - \$40.00	18 / linear feet	\$720.00		Y	
Product Code:		Supplier Product Code:				
		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$41.00	18 / linear feet	\$738.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$75.00	18 / linear feet	\$1,350.00		Y	

Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
Wynn Construction Co., Inc	First Offer - \$92.00		\$1,656.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
C-P Integrated Services	First Offer - \$93.00	18 / linear feet	\$1,674.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
Haskell Lemon Group, LLC	First Offer - \$120.29		\$2,165.22	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	·

MP-0537 PH II01-30 MP-0537 PH. II: 6 INCH NON-P	ERF PIPE UNDERDRAIN	ROUND			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$29.55	50 / linear feet	\$1,477.50		Y
		Supplier Product Cod Supplier Notes:	e:		
Brewer Construction Oklahoma LLC	First Offer - \$31.00	50 / linear feet	\$1,550.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Wynn Construction Co., Inc	First Offer - \$33.00	50 / linear feet	\$1,650.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
C-P Integrated Services	First Offer - \$38.00	50 / linear feet	\$1,900.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Downey Contracting, L.L.C.	First Offer - \$40.00	50 / linear feet	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Cimarron Construction Company, LLC	First Offer - \$41.00	50 / linear feet	\$2,050.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

Supplier Totals

f Cimarron Co	onstruction Company, LLC	\$298,523.50 (30/30 items)
Bid Contact Oualifications	Don E Noble DNoble@cimarroncco.com Ph 405-728-1555 Fax 405-728-5026 OKC PRE-QUALIFIED CONTRACTORS	Address 3501 NE. 63rd Street Oklahoma City, OK 73121
Agency Notes:	<u> </u>	Supplier Notes: Head Atte
f Brewer Con	struction Oklahoma LLC	\$330,734.50 (30/30 items)
Bid Contact	Shane Smith shane@brewerok.com Ph 405-787-4962 Fax 405-495-8972	Address 8301 sw 8th oklahoma city, OK 73128
Qualifications	OKC PRE-QUALIFIED CONTRACTORS	
Agency Notes:	:	Supplier Notes: Head Atto
f Haskell Lem	non Group, LLC	\$379,887.15 (30/30 items)

6/7/2023

p. 12

hern Oaks Park		its Trusts	
Bid Contact	Tammy Robinson bids@haskelllemon.com Ph 405-947-6069	Address PO Box 75608 Oklahoma City, OK 73147	
-	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes:	Head Attch:
f Wynn Const	truction Co., Inc	\$383,851.40 (30/30 items)	
Bid Contact	Rick Thompson bid@wynnconstruction.com Ph 405-753-1120	Address 11901 North Eastern Ave. Oklahoma City, OK 73131	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes:	Head Attch:
f C-P Integrat	ed Services	\$509,861.00 (30/30	items)
Bid Contact	Durinda Fisher dfisher@cpiokc.com Ph 405-732-0532	Address 3007 NW 63rd Street, Ste Oklahoma City, OK 73116	205
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Notes	Could not get bid bond to upload so have excavation	as an attachment under first line item unclassified	
Agency Notes:		Supplier Notes: Could not get bid bond to upload so has an attachment under first line item unclassified excavation	_
f Downey Coi	ntracting, L.L.C.	\$549,150.50 (30/30 items)	1
Bid Contact	Sheila Stovall dmccaskill@downeycontracting.com Ph 405-478-5277	Address 3217 NE 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:	:	Supplier Notes:	Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

City Clerk

Bid Committee Bid Tab

Bid OCWUT SC-1092 Ended At Jun 7, 2023 10:00:00 AM CDT CONSTRUCTION/OCWUT - Sanitary Sewer Rehabilitation

Company:	Krapff Reynolds Construction Company	Jordan Contractors Inc.	
BASE BID	\$1,599,184.00	\$3,626,110.00	
TOTAL BID:	\$1,599,184.00	\$3,626,110.00	

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT SC-1092 - Sanitary Sewer Rehabilitation

Start Date Apr 26, 2023 7:51:00 AM CDT Awarded Date Not Yet Awarded

OCWUT SC-109201-01 BASE BID: AUDIO-VIDEO RECORDING PRE- AND POST-CONSTRUCTION						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Krapff Reynolds Construction Company	First Offer - \$1,000.00	1 / lump sum	\$1,000.00	Υ	Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Bid bond attached to this item.					
Jordan Contractors Inc.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

OCWUT SC-109201-02 BASE BID: SEDIMENT AND EROSION CONTROL							
Supplier	lier Unit Price Qty/Unit Total Price Attch. Doc						
Jordan Contractors Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Krapff Reynolds Construction Company	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT SC-109201-03 BASE BID: TRENCH EXCAVATION AND BACKFILL (0FT TO 10FT)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$20.00	226 / linear foot	\$4,520.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Jordan Contractors Inc.	First Offer - \$25.00	226 / linear foot	\$5,650.00		Υ			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

OCWUT SC-109201-04 BASE BID: TRENC EXCAVATION AND BACKFILL (0FT TO 15FT)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$30.00	67 / linear foot	\$2,010.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Jordan Contractors Inc.	First Offer - \$30.00	67 / linear foot	\$2,010.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCWUT SC-109201-05 BASE BID: EMBEDMENT MATERIAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$65.00	36 / cubic yard	\$2,340.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Jordan Contractors Inc.	First Offer - \$150.00	36 / cubic yard	\$5,400.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCWUT SC-109201-06 BASE BID: SANITARY SEWER PIPE (8IN)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$130.00	311 / linear foot	\$40,430.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Jordan Contractors Inc.	First Offer - \$400.00	311 / linear foot	\$124,400.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109201-07 BASE BID: SEWER SERVICE CONNECTION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$650.00	203 / each	\$131,950.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Jordan Contractors Inc.	First Offer - \$1,500.00	203 / each	\$304,500.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT SC-109201-08 BASE BID: SEWER SERVICE LINE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jordan Contractors Inc.	First Offer - \$10.00	2030 / linear foot	\$20,300.00		Υ			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						
Krapff Reynolds Construction Company	First Offer - \$15.00	2030 / linear foot	\$30,450.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT SC-109201-09 BASE BID: ABANDONING SEWER LINE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jordan Contractors Inc.	First Offer - \$150.00	12 / cubic yard	\$1,800.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Krapff Reynolds Construction Company	First Offer - \$400.00	12 / cubic yard	\$4,800.00		Y			
Product Code:	•	Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCWUT SC-109201-10 BASE BID: PLUG SANITARY SEWER MANHOLE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$1,000.00	6 / each	\$6,000.00		Y				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Jordan Contractors Inc.	First Offer - \$1,500.00	6 / each	\$9,000.00		Y				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109201-11 BASE BID: TRENCHLESS CONSTRUCTION (8IN)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$130.00	6518 / linear foot	\$847,340.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Jordan Contractors Inc.	First Offer - \$400.00	6518 / linear foot	\$2,607,200.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109201-12 BASE BID: TRENCHLESS CONSTRUCTION (12IN)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$142.00	132 / linear foot	\$18,744.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Jordan Contractors Inc.	First Offer - \$450.00	132 / linear foot	\$59,400.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109201-13 BASE BID: SLIPLINING (8IN)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Krapff Reynolds Construction Company	First Offer - \$130.00	62 / linear foot	\$8,060.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Jordan Contractors Inc.	First Offer - \$300.00	62 / linear foot	\$18,600.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

OCWUT SC-109201-14 BASE BID: SEWER FLOW CONTROL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Jordan Contractors Inc.	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109201-15 BASE BID: POINT REPAIR					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jordan Contractors Inc.	First Offer - \$10,000.00	1 / each	\$10,000.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$25,000.00	1 / each	\$25,000.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT SC-109201-16 BASE BID: DEFLECTION TEST (LESS THAN 24 INCHES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$500.00	1 / lump sum	\$500.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Jordan Contractors Inc.	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT SC-109201-17 BASE BID: TELEVISION INSPECTION (CCTV) (PRE- AND POST- CONSTRUCTION)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$10.00	6650 / linear foot	\$66,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Jordan Contractors Inc.	First Offer - \$20.00	6650 / linear foot	\$133,000.00		Υ			
Product Code:		Supplier Product Code:						

Agency Notes: Supplier Notes:

OCWUT SC-109201-18 BASE BID: SEWER LEAKAGE TEST (8IN)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Krapff Reynolds Construction Company	First Offer - \$500.00	1 / lump sum	\$500.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Jordan Contractors Inc.	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

OCWUT SC-109201-19 BASE BID: (4FT) SANITARY SEWER MANHOLE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Jordan Contractors Inc.	First Offer - \$3,000.00	3 / each	\$9,000.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Krapff Reynolds Construction Company	First Offer - \$8,000.00	3 / each	\$24,000.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

OCWUT SC-109201-20 BASE BID: EXTRA DEPTH MANHOLE WALL (4FT)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$300.00	10 / vertical foot	\$3,000.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Jordan Contractors Inc.	First Offer - \$300.00	10 / vertical foot	\$3,000.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

OCWUT SC-109201-21 BASE BID: SANITARY SEWER MANHOLE REHABILITATION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Krapff Reynolds Construction Company	First Offer - \$300.00	230 / vertical foot	\$69,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Jordan Contractors Inc.	First Offer - \$300.00	230 / vertical foot	\$69,000.00		Y		
Product Code:		Supplier Product Code:	:				
Agency Notes:		Supplier Notes:					

OCWUT SC-109201-22 BASE BID: ABANDONING MANHOLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$1,000.00	1 / each	\$1,000.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Jordan Contractors Inc.	First Offer - \$5,000.00	1 / each	\$5,000.00		Y			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT SC-109201-23 BASE BID: GPS AS-BUILT SURVEY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Jordan Contractors Inc.	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Y			

bid #OCWUT SC-1092 -Sanitary Sewer

City of Oklahoma City and its Trusts

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

OCWUT SC-109201-24 BASE BID: CONSTRUCTION SIGNING AND TRAFFIC CONTROL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jordan Contractors Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						
Krapff Reynolds Construction Company	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT SC-109201-25 BASE BID: MOBILIZATION						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jordan Contractors Inc.		First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Krapff Reynolds Construction Company		First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Υ
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			

OCWUT SC-109201-26 BASE BID: CLEARING AND GRUBBING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Krapff Reynolds Construction Company	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Y		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Jordan Contractors Inc.	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Y		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					

OCWUT SC-109201-27 BASE BID: STRUCTURAL REMOVAL (SANITARY SEWER PIPE)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Krapff Reynolds Construction Company	First Offer - \$20.00	257 / linear foot	\$5,140.00		Υ	
Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:				
Jordan Contractors Inc.	First Offer - \$30.00	257 / linear foot	\$7,710.00		Y	
Product Code:		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				

OCWUT SC-109201-28 BASE BID: REMOVE AND REPLACE DRIVEWAY (6IN PC CONCRETE)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Krapff Reynolds Construction Company	First Offer - \$200.00	27 / square yard	\$5,400.00		Y	
Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:				
Jordan Contractors Inc.	First Offer - \$200.00	27 / square yard	\$5,400.00		Y	
Product Code:		Supplier Product Code	::			
Agency Notes:		Supplier Notes:				

OCWUT SC-109201-29 BASE BID: PAVEMENT CUT AND PERMANENT REPAIR (CONCRETE)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Jordan Contractors Inc.	First Offer - \$200.00	92 / square yard	\$18,400.00		Υ	
Product Code:		Supplier Product Code	:			
Agency Notes:	Supplier Notes:					

Krapff Reynolds Construction Company	First Offer - \$300.00	92 / square yard	\$27,600.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

OCWUT SC-109201-30 BASE BID: SOLID SLAB SODDING (U-3 BERMUDA)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Jordan Contractors Inc.	First Offer - \$3.00	14780 / square yard	\$44,340.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Krapff Reynolds Construction Company	First Offer - \$5.00	14780 / square yard	\$73,900.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT SC-109201-31 BASE BID: REROUTE PRIVATE SEWER LINE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Jordan Contractors Inc.	First Offer - \$10,000.00	2 / each	\$20,000.00	Υ	Υ		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
Krapff Reynolds Construction Company	First Offer - \$15,000.00	2 / each	\$30,000.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

Supplier Totals

f Krapff Reyn	olds Construction Company	\$1,599,184.00 (31/31 items	s)
Bid Contact	Jim King fred@krapff-reynolds.com Ph 405-733-9682 Fax 405-516-0081	Address 2400 N.E. 4th st Oklahoma City, OK 7311	7
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes		Supplier Notes:	Head Attch:
f Jordan Cont	ractors Inc.	\$3,626,110.00 (31/31 items)	
f Jordan Cont Bid Contact	ractors Inc. Jimmy Jordan john@jordancontractors.us Ph 405-598-2169 Fax 405-598-2160	\$3,626,110.00 (31/31 items) Address 123 S Broadway Tecumseh, OK 74873	
Bid Contact	Jimmy Jordan john@jordancontractors.us Ph 405-598-2169	Address 123 S Broadway	

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

City Clerk

Bid Committee Bid Tab

Bid OCWUT WC-0877 Ended At Jun 7, 2023 10:00:00 AM CDT CONSTRUCTION/OCWUT - Atoka Pipeline Raw Water Transmission Line

Company:	McKee Utility Contractors, Inc.	BELT CONSTRUCTION, INC	Harper Brothers Construction
Base Bid	\$33,295,000.00	\$35,284,459.00	\$47,967,975.00
TOTAL BID:	\$33,295,000.00	\$35,284,459.00	\$47,967,975.00

Company:	Oscar Renda Contracting Inc.	
Base Bid	\$53,095,777.00	
TOTAL BID:	\$53,095,777.00	

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT WC-0877 - Atoka Pipeline Raw Water Transmission Line

Start Date May 10, 2023 7:51:23 AM CDT Awarded Date Not Yet Awarded

OCWUT WC-087701-01 Base Bid: MOBILIZATIO	ON				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
McKee Utility Contractors, Inc.	First Offer - \$1,500,000.00	1 / lump sum	\$1,500,000.00	Υ	Υ
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Harper Brothers Construction	First Offer - \$1,700,000.00	1 / lump sum	\$1,700,000.00	Υ	Υ
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes: BID	BOND ATTACHED		
BELT CONSTRUCTION, INC [Ad]	First Offer - \$1,750,000.00	1 / lump sum	\$1,750,000.00	Υ	Υ
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Oscar Renda Contracting Inc.	First Offer - \$2,400,000.00	1 / lump sum	\$2,400,000.00	Υ	Υ
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:		

OCWUT WC-087701-02 Base Bid: COLOR AUDIO/VIDEO RECORDING PRE & POST CONSTRUCTION (RECORDED DIGITALLY ON DVD)									
Supplier	Unit Price	e Qty/Unit Total Price Attch. D							
McKee Utility Contractors, Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00	Υ	Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:						
BELT CONSTRUCTION, INC [Ad]	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Oscar Renda Contracting Inc.	First Offer - \$30,000.00	1 / lump sum	\$30,000.00		Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:						
Harper Brothers Construction	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:						

OCWUT WC-087701-03 Base Bid: SEDIMENT & EROSION CONTROL									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Docs							
McKee Utility Contractors, Inc.	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ				
Product Code: WC-0877	Supplier Product Co	de:							
Agency Notes:		Supplier Notes:							
Harper Brothers Construction	First Offer - \$120,000.00	1 / lump sum	\$120,000.00		Y				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
BELT CONSTRUCTION, INC [Ad]	First Offer - \$147,000.00	1 / lump sum	\$147,000.00		Υ				
Product Code: WC-0877		Supplier Product Co	de:						

Agency Notes:		Supplier Notes:		
Oscar Renda Contracting Inc.	First Offer - \$200,000.00	1 / lump sum	\$200,000.00	Υ
Product Code: WC-0877		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

OCWUT WC-087701-04 Base Bid: CRUSHED ROCK FOUDNATIONS (VAULTS PIPE STABILIZATION)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Harper Brothers Construction	First Offer - \$32.00	500 / cubic yard	\$16,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
McKee Utility Contractors, Inc.	First Offer - \$40.00	500 / cubic yard	\$20,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Oscar Renda Contracting Inc.	First Offer - \$50.00	500 / cubic yard	\$25,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
BELT CONSTRUCTION, INC [Ad]	First Offer - \$57.00	500 / cubic yard	\$28,500.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							

OCWUT WC-087701-05 Base Bid: 72 INCH PIPELINE TRENCHING OPTION A (CLASS 200)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
BELT CONSTRUCTION, INC [Ad]	First Offer - \$250.00	43810 / linear foot	\$10,952,500.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
McKee Utility Contractors, Inc.	First Offer - \$294.50	43810 / linear foot	\$12,902,045.00		Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Oscar Renda Contracting Inc.	First Offer - \$361.00	43810 / linear foot	\$15,815,410.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Harper Brothers Construction	First Offer - \$369.00	43810 / linear foot	\$16,165,890.00		Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							

OCWUT WC-087701-06 Base Bid: 72 INCH PIPELINE TRENCHING OPTION A (CLASS 225)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
BELT CONSTRUCTION, INC [Ad]	First Offer - \$238.00	4652 / linear foot	\$1,107,176.00		Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
McKee Utility Contractors, Inc.	First Offer - \$294.50	4652 / linear foot	\$1,370,014.00		Y				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Harper Brothers Construction	First Offer - \$369.00	4652 / linear foot	\$1,716,588.00		Y				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Oscar Renda Contracting Inc.	First Offer - \$391.00	4652 / linear foot	\$1,818,932.00		Y				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WC-087701-07 Base Bid: 72 INCH PIPELINE TRENCHING OPTION B (CLASS 200)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
BELT CONSTRUCTION, INC [Ad]	First Offer - \$333.00	1350 / linear foot	\$449,550.00		Y		
Product Code: WC-0877		Supplier Product Code:					

•				
Agency Notes:		Supplier Notes:		
McKee Utility Contractors, Inc.	First Offer - \$400.00	1350 / linear foot	\$540,000.00	Y
Product Code: WC-0877		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Harper Brothers Construction	First Offer - \$761.00	1350 / linear foot	\$1,027,350.00	Y
Product Code: WC-0877		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Oscar Renda Contracting Inc.	First Offer - \$1,100.00	1350 / linear foot	\$1,485,000.00	Y
Product Code: WC-0877		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

OCWUT WC-087701-08 Base Bid: 72 INCH PIPELINE TRENCHING OPTION B (CLASS 225)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
BELT CONSTRUCTION, INC [Ad]	First Offer - \$340.00	1900 / linear foot	\$646,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
McKee Utility Contractors, Inc.	First Offer - \$400.00	1900 / linear foot	\$760,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Harper Brothers Construction	First Offer - \$761.00	1900 / linear foot	\$1,445,900.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Oscar Renda Contracting Inc.	First Offer - \$1,110.00	1900 / linear foot	\$2,109,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							

OCWUT WC-087701-09 Base Bid: TUNNELING					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
BELT CONSTRUCTION, INC [Ad]	First Offer - \$3,340.00	1050 / linear foot	\$3,507,000.00		Υ
Product Code: WC-0877		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
McKee Utility Contractors, Inc.	First Offer - \$4,000.00	1050 / linear foot	\$4,200,000.00		Υ
Product Code: WC-0877		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Harper Brothers Construction	First Offer - \$4,285.00	1050 / linear foot	\$4,499,250.00		Υ
Product Code: WC-0877		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Oscar Renda Contracting Inc.	First Offer - \$7,600.00	1050 / linear foot	\$7,980,000.00		Y
Product Code: WC-0877		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT WC-087701-10 Base Bid: PIPELINE MARKER									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
McKee Utility Contractors, Inc.	First Offer - \$75.00	216 / each	\$16,200.00		Y				
Product Code: WC-0877		Supplier Product Cod	de:						
Agency Notes:		Supplier Notes:							
Harper Brothers Construction	First Offer - \$100.00	216 / each	\$21,600.00		Y				
Product Code: WC-0877		Supplier Product Cod	de:						
Agency Notes:		Supplier Notes:							
BELT CONSTRUCTION, INC [Ad]	First Offer - \$160.00	216 / each	\$34,560.00		Y				
Product Code: WC-0877		Supplier Product Cod	de:						
Agency Notes:		Supplier Notes:							
Oscar Renda Contracting Inc.	First Offer - \$300.00	216 / each	\$64,800.00		Y				
Product Code: WC-0877		Supplier Product Cod	de:						
Agency Notes:		Supplier Notes:							

OCWUT WC-087701-11 Base Bid: CONSTRUCTION ENTRANCE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
BELT CONSTRUCTION, INC [Ad]	First Offer - \$6,100.00	22 / each	\$134,200.00		Υ				
		Supplier Product Code: Supplier Notes:							
Harper Brothers Construction	First Offer - \$16,200.00	22 / each	\$356,400.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
McKee Utility Contractors, Inc.	First Offer - \$20,000.00	22 / each	\$440,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:						
Oscar Renda Contracting Inc.	First Offer - \$25,000.00	22 / each	\$550,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:						

OCWUT WC-087701-12 Base Bid: 18 INCH GROUTED RIPRAP							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Oscar Renda Contracting Inc.	First Offer - \$90.00	1030 / square yard	\$92,700.00		Y		
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:					
McKee Utility Contractors, Inc.	First Offer - \$140.00	1030 / square yard	\$144,200.00		Υ		
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:					
BELT CONSTRUCTION, INC [Ad]	First Offer - \$182.00	1030 / square yard	\$187,460.00		Υ		
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:					
Harper Brothers Construction	First Offer - \$345.00	1030 / square yard	\$355,350.00		Υ		
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:					

OCWUT WC-087701-13 Base Bid: TYPE 2 RIPRAP							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
McKee Utility Contractors, Inc.	First Offer - \$77.00	10750 / square yard	\$827,750.00		Y		
Product Code: WC-0877		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Oscar Renda Contracting Inc.	First Offer - \$150.00	10750 / square yard	\$1,612,500.00		Y		
Product Code: WC-0877		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Harper Brothers Construction	First Offer - \$161.00	10750 / square yard	\$1,730,750.00		Y		
Product Code: WC-0877		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
BELT CONSTRUCTION, INC [Ad]	First Offer - \$162.00	10750 / square yard	\$1,741,500.00		Y		
Product Code: WC-0877		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT WC-087701-14 Base Bid: TYPE 3 RIPRAP							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
McKee Utility Contractors, Inc.	First Offer - \$100.00	13060 / square yard	\$1,306,000.00		Υ		
Product Code: WC-0877		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Oscar Renda Contracting Inc.	First Offer - \$180.00	13060 / square yard	\$2,350,800.00		Υ		
Product Code: WC-0877		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

Harper Brothers Construction	First Offer - \$197.00	13060 / square yard	\$2,572,820.00	Υ
Product Code: WC-0877		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
BELT CONSTRUCTION, INC [Ad]	First Offer - \$250.00	13060 / square yard	\$3,265,000.00	Υ
Product Code: WC-0877		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

OCWUT WC-087701-15 Base Bid: 4000 PSI CON	CRETE CAP				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
McKee Utility Contractors, Inc.	First Offer - \$240.00	93 / cubic yard	\$22,320.00		Υ
Product Code: WC-0877 Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Oscar Renda Contracting Inc.	First Offer - \$600.00	93 / cubic yard	\$55,800.00		Υ
Product Code: WC-0877		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Harper Brothers Construction	First Offer - \$742.00	93 / cubic yard	\$69,006.00		Υ
Product Code: WC-0877		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
BELT CONSTRUCTION, INC [Ad]	First Offer - \$1,160.00	93 / cubic yard	\$107,880.00		Υ
Product Code: WC-0877 Agency Notes:		Supplier Product Code Supplier Notes:	e:		

OCWUT WC-087701-16 Base Bid: 6 INCH SINGLE COMBINATION VALVE & VAULT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
McKee Utility Contractors, Inc.	First Offer - \$50,000.00	18 / each	\$900,000.00		Y			
Product Code: WC-0877		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
BELT CONSTRUCTION, INC [Ad]	First Offer - \$66,000.00	18 / each	\$1,188,000.00		Y			
Product Code: WC-0877		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Oscar Renda Contracting Inc.	First Offer - \$100,000.00	18 / each	\$1,800,000.00		Y			
Product Code: WC-0877		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Harper Brothers Construction	First Offer - \$115,000.00	18 / each	\$2,070,000.00		Υ			
Product Code: WC-0877		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

OCWUT WC-087701-17 Base Bid: 10 INCH DUAL BODY VACUUM BREAKER WITH COMBINATION VALVE & VAULT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
McKee Utility Contractors, Inc.	First Offer - \$52,000.00	2 / each	\$104,000.00		Y		
Product Code: WC-0877		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
BELT CONSTRUCTION, INC [Ad]	First Offer - \$73,000.00	2 / each	\$146,000.00		Y		
Product Code: WC-0877		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Oscar Renda Contracting Inc.	First Offer - \$115,000.00	2 / each	\$230,000.00		Y		
Product Code: WC-0877		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Harper Brothers Construction	First Offer - \$134,000.00	2 / each	\$268,000.00		Y		
Product Code: WC-0877		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

OCWUT WC-087701-18 Base Bid: 12 INCH DUAL BODY VACUUM BREAKER WITH COMBINATION VALVE & VAULT						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

McKee Utility Contractors, Inc.	First Offer - \$54,000.00	14 / each	\$756,000.00	Υ	
Product Code: WC-0877		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
BELT CONSTRUCTION, INC [Ad]	First Offer - \$80,000.00	14 / each	\$1,120,000.00	Υ	
Product Code: WC-0877		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Oscar Renda Contracting Inc.	First Offer - \$120,000.00	14 / each	\$1,680,000.00	Υ	
Product Code: WC-0877		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Harper Brothers Construction	First Offer - \$143,000.00	14 / each	\$2,002,000.00	Υ	
Product Code: WC-0877		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			

OCWUT WC-087701-19 Base Bid: 14 INCH DUAL BODY VACUUM BREAKER WITH COMBINATION VALVE & VAULT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
McKee Utility Contractors, Inc.	First Offer - \$57,000.00	11 / each	\$627,000.00		Υ		
Product Code: WC-0877		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
BELT CONSTRUCTION, INC [Ad]	First Offer - \$90,000.00	11 / each	\$990,000.00		Y		
Product Code: WC-0877		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Oscar Renda Contracting Inc.	First Offer - \$130,000.00	11 / each	\$1,430,000.00		Υ		
Product Code: WC-0877		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Harper Brothers Construction	First Offer - \$158,000.00	11 / each	\$1,738,000.00		Y		
Product Code: WC-0877		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

OCWUT WC-087701-20 Base Bid: 96 INCH BORING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
BELT CONSTRUCTION, INC [Ad]	First Offer - \$3,800.00	500 / linear foot	\$1,900,000.00		Υ		
Product Code: WC-0877		Supplier Product Code	•				
Agency Notes:		Supplier Notes:					
McKee Utility Contractors, Inc.	First Offer - \$4,000.00	500 / linear foot	\$2,000,000.00		Υ		
Product Code: WC-0877		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Oscar Renda Contracting Inc.	First Offer - \$4,000.00	500 / linear foot	\$2,000,000.00		Υ		
Product Code: WC-0877		Supplier Product Code					
Agency Notes:		Supplier Notes:					
Harper Brothers Construction	First Offer - \$4,450.00	500 / linear foot	\$2,225,000.00		Υ		
Product Code: WC-0877		Supplier Product Code	•				
Agency Notes:		Supplier Notes:					

OCWUT WC-087701-21 Base Bid: 96 INCHCASING (OPEN TRENCH INSTALLATION)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
BELT CONSTRUCTION, INC [Ad]	First Offer - \$406.00	200 / linear foot	\$81,200.00		Υ		
Product Code: WC-0877		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Oscar Renda Contracting Inc.	First Offer - \$1,800.00	200 / linear foot	\$360,000.00		Υ		
Product Code: WC-0877		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
McKee Utility Contractors, Inc.	First Offer - \$3,500.00	200 / linear foot	\$700,000.00		Υ		
Product Code: WC-0877		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Harper Brothers Construction	First Offer - \$7,900.00	200 / linear foot	\$1,580,000.00		Υ		

bid #OCWUT WC-0877 -Atoka Pipeline Raw Water

City of Oklahoma City and its Trusts

Product Code: WC-0877Supplier Product Code:Agency Notes:Supplier Notes:

OCWUT WC-087701-22 Base Bid: ACCESS MANHOLE & VAULT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
McKee Utility Contractors, Inc.	First Offer - \$40,000.00	3 / each	\$120,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:						
BELT CONSTRUCTION, INC [Ad]	First Offer - \$56,000.00	3 / each	\$168,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Oscar Renda Contracting Inc.	First Offer - \$90,000.00	3 / each	\$270,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Harper Brothers Construction	First Offer - \$100,000.00	3 / each	\$300,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:						

OCWUT WC-087701-23 Base Bid: BLOW OFF VALVE & VAULT WITH OUTLET									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
McKee Utility Contractors, Inc.	First Offer - \$50,000.00	27 / each	\$1,350,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:						
BELT CONSTRUCTION, INC [Ad]	First Offer - \$80,000.00	27 / each	\$2,160,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Harper Brothers Construction	First Offer - \$126,000.00	27 / each	\$3,402,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:						
Oscar Renda Contracting Inc.	First Offer - \$140,000.00	27 / each	\$3,780,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:						

OCWUT WC-0877–01-24 Base Bid: HYDROSTATIC PRESSURE TESTING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
McKee Utility Contractors, Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Y				
Product Code: WC-0877 Agency Notes:	Supplier Product Code: Supplier Notes:								
BELT CONSTRUCTION, INC [Ad]	First Offer - \$65,000.00	1 / lump sum	\$65,000.00		Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Harper Brothers Construction	First Offer - \$100,000.00	1 / lump sum	\$100,000.00		Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Oscar Renda Contracting Inc.	First Offer - \$150,000.00	1 / lump sum	\$150,000.00		Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:						

OCWUT WC-087701-25 Base Bid: CONSTRUCTION STAKING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
McKee Utility Contractors, Inc.	First Offer - \$67,330.00	1 / lump sum	\$67,330.00		Y			
Product Code: WC-0877		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Harper Brothers Construction	First Offer - \$100,000.00	1 / lump sum	\$100,000.00		Y			

Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:		
BELT CONSTRUCTION, INC [Ad]	First Offer - \$120,000.00	1 / lump sum	\$120,000.00	Υ	
Product Code: WC-0877		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Oscar Renda Contracting Inc.	First Offer - \$125,000.00	1 / lump sum	\$125,000.00	Υ	
Product Code: WC-0877		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			

OCWUT WC-0877–01-26 Base Bid: CONSTRUCTION SIGNING & TRAFFIC CONTROL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
BELT CONSTRUCTION, INC [Ad]	First Offer - \$30,000.00	1 / lump sum	\$30,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Coo Supplier Notes:	de:						
Harper Brothers Construction	First Offer - \$40,000.00	1 / lump sum	\$40,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
McKee Utility Contractors, Inc.	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Coo Supplier Notes:	de:						
Oscar Renda Contracting Inc.	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Coo Supplier Notes:	de:						

OCWUT WC-087701-27 Base Bid: CLEARING & GRUBBING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
BELT CONSTRUCTION, INC [Ad]	First Offer - \$500,000.00	1 / lump sum	\$500,000.00		Υ				
		Supplier Product Co Supplier Notes:	de:						
Harper Brothers Construction	First Offer - \$1,020,000.00	1 / lump sum	\$1,020,000.00		Υ				
Product Code: WC-0877 Agency Notes:	Supplier Product Code: Supplier Notes:								
McKee Utility Contractors, Inc.	First Offer - \$1,600,000.00	1 / lump sum	\$1,600,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:						
Oscar Renda Contracting Inc.	First Offer - \$2,500,000.00	1 / lump sum	\$2,500,000.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Co Supplier Notes:	de:						

OCWUT WC-087701-28 Base Bid: REMOVE & REPLACE GRAVEL DRIVEWAY										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
McKee Utility Contractors, Inc.	First Offer - \$6.00	10288 / square yard	\$61,728.00		Y					
Product Code: WC-0877		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Harper Brothers Construction	First Offer - \$50.00	10288 / square yard	\$514,400.00		Υ					
Product Code: WC-0877		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Oscar Renda Contracting Inc.	First Offer - \$60.00	10288 / square yard	\$617,280.00		Y					
Product Code: WC-0877		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
BELT CONSTRUCTION, INC [Ad]	First Offer - \$85.00	10288 / square yard	\$874,480.00		Y					
Product Code: WC-0877		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCWUT WC-087701-29 Base Bid: PAVING CUT & PERMANENT REPAIR (ASPHALT)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Oscar Renda Contracting Inc.	First Offer - \$100.00	154 / square yard	\$15,400.00		Y				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Harper Brothers Construction	First Offer - \$105.00	154 / square yard	\$16,170.00		Y				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
McKee Utility Contractors, Inc.	First Offer - \$150.00	154 / square yard	\$23,100.00		Y				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
BELT CONSTRUCTION, INC [Ad]	First Offer - \$450.00	154 / square yard	\$69,300.00		Y				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WC-087701-30 Base Bid: REMOVE & REPLACE FENCE - TYPE I - BARBED WIRE										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
McKee Utility Contractors, Inc.		First Offer - \$5.00	3511 / linear foot	\$17,555.00		Υ				
Product Code: WC-0877 Agency Notes:			Supplier Product Code: Supplier Notes:							
BELT CONSTRUCTION, INC [Ad]		First Offer - \$6.00	3511 / linear foot	\$21,066.00		Y				
Product Code: WC-0877 Agency Notes:			Supplier Product Code: Supplier Notes:							
Harper Brothers Construction		First Offer - \$16.00	3511 / linear foot	\$56,176.00		Υ				
Product Code: WC-0877 Agency Notes:			Supplier Product Code: Supplier Notes:							
Oscar Renda Contracting Inc.		First Offer - \$25.00	3511 / linear foot	\$87,775.00		Y				
Product Code: WC-0877 Agency Notes:			Supplier Product Code: Supplier Notes:							

OCWUT WC-087701-31 Base Bid: REMOVE & REPLACE FENCE - TYPE II - CHAINLINK								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
McKee Utility Contractors, Inc.	First Offer - \$40.00	260 / linear foot	\$10,400.00		Υ			
Product Code: WC-0877		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
BELT CONSTRUCTION, INC [Ad]	First Offer - \$46.00	260 / linear foot	\$11,960.00		Υ			
Product Code: WC-0877		Supplier Product Code:	}					
Agency Notes:		Supplier Notes:						
Harper Brothers Construction	First Offer - \$54.00	260 / linear foot	\$14,040.00		Υ			
Product Code: WC-0877		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Oscar Renda Contracting Inc.	First Offer - \$100.00	260 / linear foot	\$26,000.00		Υ			
Product Code: WC-0877		Supplier Product Code:	:					
Agency Notes:		Supplier Notes:						

OCWUT WC-087701-32 Base Bid: REMOVE & REPLACE FENCE - PIPE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
McKee Utility Contractors, Inc.	First Offer - \$75.00	100 / linear foot	\$7,500.00		Y				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
BELT CONSTRUCTION, INC [Ad]	First Offer - \$116.00	100 / linear foot	\$11,600.00		Y				
Product Code: WC-0877		Supplier Product Code:	}						
Agency Notes:		Supplier Notes:							
Harper Brothers Construction	First Offer - \$267.00	100 / linear foot	\$26,700.00		Y				
Product Code: WC-0877		Supplier Product Code:							

Agency Notes:			Supplier Notes:		
Oscar Renda Contracting Inc.	First Offer -	\$350.00	100 / linear foot	\$35,000.00	Υ
Product Code: WC-0877			Supplier Product Code:		
Agency Notes:			Supplier Notes:		

OCWUT WC-087701-33 Base Bid: REMOVE & REPLACE FENCE - GATE - BARBED WIRE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
McKee Utility Contractors, Inc.	First Offer - \$10.00	202 / linear foot	\$2,020.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code Supplier Notes:	:						
Harper Brothers Construction	First Offer - \$16.00	202 / linear foot	\$3,232.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code Supplier Notes:	:						
Oscar Renda Contracting Inc.	First Offer - \$150.00	202 / linear foot	\$30,300.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code Supplier Notes:	:						
BELT CONSTRUCTION, INC [Ad]	First Offer - \$1,060.00	202 / linear foot	\$214,120.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code Supplier Notes:	:						

OCWUT WC-087701-34 Base Bid: REMOVE & REPLACE FENCE - GATE - CHAINLINK									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Harper Brothers Construction	First Offer - \$107.00	16 / linear foot	\$1,712.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code Supplier Notes:	e:						
McKee Utility Contractors, Inc.	First Offer - \$160.00	16 / linear foot	\$2,560.00		Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Code Supplier Notes:	2:						
Oscar Renda Contracting Inc.	First Offer - \$200.00	16 / linear foot	\$3,200.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code Supplier Notes:	e:						
BELT CONSTRUCTION, INC [Ad]	First Offer - \$360.00	16 / linear foot	\$5,760.00		Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Code Supplier Notes:	e:						

OCWUT WC-087701-35 Base Bid: REMOVE & REPLACE 6" ALUM. PIPE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
McKee Utility Contractors, Inc.	First Offer - \$52.00	190 / linear foot	\$9,880.00		Y				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Oscar Renda Contracting Inc.	First Offer - \$100.00	190 / linear foot	\$19,000.00		Y				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
BELT CONSTRUCTION, INC [Ad]	First Offer - \$155.00	190 / linear foot	\$29,450.00		Y				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Harper Brothers Construction	First Offer - \$195.00	190 / linear foot	\$37,050.00		Y				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WC-087701-36 Base Bid: REMOVE & REPLACE 15" CMP							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
McKee Utility Contractors, Inc.	First Offer - \$40.00	16 / linear foot	\$640.00		Y		
Product Code: WC-0877		Supplier Product Code	: :				

Agency Notes:		Supplier Notes:				
Harper Brothers Construction	First Offer - \$147.00	16 / linear foot	\$2,352.00	Υ		
Product Code: WC-0877		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				
Oscar Renda Contracting Inc.	First Offer - \$200.00	16 / linear foot	\$3,200.00	Υ		
Product Code: WC-0877		Supplier Product Code	2 :			
Agency Notes:		Supplier Notes:				
BELT CONSTRUCTION, INC [Ad]	First Offer - \$350.00	16 / linear foot	\$5,600.00	Υ		
Product Code: WC-0877		Supplier Product Code	2 :			
Agency Notes:		Supplier Notes:				

OCWUT WC-087701-37 Base Bid: REMOVE & REPLACE 18" CMP									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
McKee Utility Contractors, Inc.	First Offer - \$50.00	202 / linear foot	\$10,100.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Harper Brothers Construction	First Offer - \$166.00	202 / linear foot	\$33,532.00		Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Oscar Renda Contracting Inc.	First Offer - \$200.00	202 / linear foot	\$40,400.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
BELT CONSTRUCTION, INC [Ad]	First Offer - \$226.00	202 / linear foot	\$45,652.00		Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							

OCWUT WC-087701-38 Base Bid: REMOVE & REPLACE 24" CMP									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
McKee Utility Contractors, Inc.	First Offer - \$60.00	45 / linear foot	\$2,700.00		Υ				
Product Code: WC-0877		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Harper Brothers Construction	First Offer - \$186.00	45 / linear foot	\$8,370.00		Υ				
Product Code: WC-0877		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Oscar Renda Contracting Inc.	First Offer - \$220.00	45 / linear foot	\$9,900.00		Υ				
Product Code: WC-0877		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							
BELT CONSTRUCTION, INC [Ad]	First Offer - \$263.00	45 / linear foot	\$11,835.00		Υ				
Product Code: WC-0877		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							

OCWUT WC-087701-39 Base Bid: REMOVE & REPLACE 36" CMP								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
McKee Utility Contractors, Inc.	First Offer - \$70.00	61 / linear foot	\$4,270.00		Y			
Product Code: WC-0877		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
BELT CONSTRUCTION, INC [Ad]	First Offer - \$250.00	61 / linear foot	\$15,250.00		Y			
Product Code: WC-0877		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Harper Brothers Construction	First Offer - \$293.00	61 / linear foot	\$17,873.00		Y			
Product Code: WC-0877		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Oscar Renda Contracting Inc.	First Offer - \$300.00	61 / linear foot	\$18,300.00		Y			
Product Code: WC-0877		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

OCWUT WC-087701-40 Base Bid: REMOVE & REPLACE 15 INCH STEEL PIPE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
McKee Utility Contractors, Inc.	First Offer - \$70.00	144 / linear foot	\$10,080.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Oscar Renda Contracting Inc.	First Offer - \$200.00	144 / linear foot	\$28,800.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
BELT CONSTRUCTION, INC [Ad]	First Offer - \$260.00	144 / linear foot	\$37,440.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Harper Brothers Construction	First Offer - \$488.00	144 / linear foot	\$70,272.00		Y				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							

OCWUT WC-087701-41 Base Bid: REMOVE & REPLACE 24 INCH STEEL PIPE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
McKee Utility Contractors, Inc.	First Offer - \$142.00	124 / linear foot	\$17,608.00		Υ				
Product Code: WC-0877 Agency Notes:		Supplier Product Code: Supplier Notes:							
Oscar Renda Contracting Inc.	First Offer - \$220.00	124 / linear foot	\$27,280.00		Υ				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
BELT CONSTRUCTION, INC [Ad]	First Offer - \$280.00	124 / linear foot	\$34,720.00		Υ				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Harper Brothers Construction	First Offer - \$683.00	124 / linear foot	\$84,692.00		Υ				
Product Code: WC-0877		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WC-087701-42 Base Bid: SEEDING					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
McKee Utility Contractors, Inc.	First Offer - \$1,500.00	61 / acre	\$91,500.00		Υ
Product Code: WC-0877 Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Harper Brothers Construction	First Offer - \$2,000.00	61 / acre	\$122,000.00		Y
Product Code: WC-0877 Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Oscar Renda Contracting Inc.	First Offer - \$3,000.00	61 / acre	\$183,000.00		Υ
Product Code: WC-0877 Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
BELT CONSTRUCTION, INC [Ad]	First Offer - \$4,100.00	61 / acre	\$250,100.00		Υ
Product Code: WC-0877 Agency Notes:		Supplier Product Coo Supplier Notes:	de:		

OCWUT WC-087701-43 Base Bid: G.P.S. AS-BUILT SURVEY							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
McKee Utility Contractors, Inc.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ		
Product Code: WC-0877	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Harper Brothers Construction	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Y		
Product Code: WC-0877		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

Oscar Renda Contracting Inc.	First Offer - \$150,000.00	1 / lump sum	\$150,000.00	Y
Product Code: WC-0877		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
BELT CONSTRUCTION, INC [Ad]	First Offer - \$346,000.00	1 / lump sum	\$346,000.00	Υ
Product Code: WC-0877		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

OCWUT WC-087701-44 Base Bid: CATHODIC PROTECTION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Harper Brothers Construction	First Offer - \$100,000.00	1 / lump sum	\$100,000.00		Y			
Product Code: WC-0877		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
McKee Utility Contractors, Inc.	First Offer - \$200,000.00	1 / lump sum	\$200,000.00		Y			
Product Code: WC-0877	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Oscar Renda Contracting Inc.	First Offer - \$250,000.00	1 / lump sum	\$250,000.00		Y			
Product Code: WC-0877		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
BELT CONSTRUCTION, INC [Ad]	First Offer - \$351,000.00	1 / lump sum	\$351,000.00		Y			
Product Code: WC-0877		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

OCWUT WC-087701-45 Base Bid: TRENCH DAM	1				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Harper Brothers Construction	First Offer - \$500.00	43 / each	\$21,500.00		Υ
Product Code: WC-0877	Supplier Product Cod	de:			
Agency Notes:		Supplier Notes:			
BELT CONSTRUCTION, INC [Ad]	First Offer - \$1,200.00	43 / each	\$51,600.00		Υ
Product Code: WC-0877	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Oscar Renda Contracting Inc.	First Offer - \$2,000.00	43 / each	\$86,000.00		Υ
Product Code: WC-0877		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
McKee Utility Contractors, Inc.	First Offer - \$3,500.00	43 / each	\$150,500.00		Υ
Product Code: WC-0877		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			

OCWUT WC-087701-46 Base Bid: ISOLATION JOINT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Harper Brothers Construction	First Offer - \$43,000.00	2 / each	\$86,000.00		Υ		
Product Code: WC-0877	Supplier Product Co	de:					
Agency Notes:		Supplier Notes:					
McKee Utility Contractors, Inc.	First Offer - \$150,000.00	2 / each	\$300,000.00		Y		
Product Code: WC-0877		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
BELT CONSTRUCTION, INC [Ad]	First Offer - \$178,000.00	2 / each	\$356,000.00		Y		
Product Code: WC-0877		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Oscar Renda Contracting Inc.	First Offer - \$250,000.00	2 / each	\$500,000.00		Y		
Product Code: WC-0877		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

Supplier Totals

a Pipeline Raw W	/ater its Trusts	j	
f McKee Utili	ty Contractors, Inc.	\$33,295,000.00 (46/46 items)	
Bid Contact	Shane McKee shane@mckeeutility.com Ph 405-567-7506	Address 2319 West Main Prague, OK 74864	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes			Head Attch:
f BELT CONST	FRUCTION, INC [Ad]	\$35,284,459.00 (46/46	items)
Bid Contact	MARLA STUEHRENBERG david@beltinc.com Ph 870-772-7216 Fax 870-772-7233	Address 2507 E BROAD TEXARKANA, AR 71854	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: This bid bond could not be verified)		
Bid Notes	Bid bond would not verify. We consulted Periscope an attachment.	and Surety 2000. Periscope said to just uplo	ad as
Agency Notes	:	Supplier Notes: Bid bond would not verify. We consuperiscope and Surety 2000. Periscopto just upload as an attachment.	_
f Harper Brot	thers Construction	\$47,967,975.00 (46/46 it	ems)
Bid Contact	Marlon Holzbach bids@harperbro.com Ph 713-893-4593	Address 654 N. Sam Houston Pkw Suite 330 Houston, TX 77060	ry E.,
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: This bid bond could not be verified)		
Agency Notes		Supplier Notes:	Head Attch:
f Oscar Rend	a Contracting Inc.	\$53,095,777.00 (46/46 items))
Bid Contact	Janie Rodriguez janie@southlandholdings.com Ph 817-293-4263	Address 1100 Kubota Dr Grapevine, TX 76051	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Notes	Bid bond attached to first bid item.		
Agency Notes	:	Supplier Notes: Bid bond attached to first bid item.	Head Attch ៧

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Company:

Bid Committee Bid Tab

Bid OCWUT WT-0249-2 Ended At Jun 7, 2023 10:00:00 AM CDT CONSTRUCTION/OCWUT - Filter No. 11 Rehabilitation; Draper Water Treatment Plant

Archer Western Construction

Base Bid	\$688,788.00	\$767,131.00	
TOTAL BID:	\$688,788.00	\$767,131.00	
Tresha Williams	Chad Harris	on	Tim Alvarez
City Clerk	Purchasing A		ıditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- Business relationship affidavit not properly notarized

Wynn Construction Co., Inc.

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT WT-0249-2 - Filter No. 11 Rehabilitation; Draper Water Treatment Plant

Start Date May 10, 2023 7:51:23 AM CDT Awarded Date Not Yet Awarded

OCWUT WT-0249-201-01 Base Bid: MOBILIZATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Archer Western Construction	First Offer - \$35,000.00	1 / lump sum	\$35,000.00	Υ	Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$35,405.00	1 / lump sum	\$35,405.00	Υ	Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCWUT WT-0249-201-02 Base Bid: PRE & POST CONSTRUCTION VIDEO / PHOTOGRAPHS							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Archer Western Construction	First Offer - \$2,100.00	1 / lump sum	\$2,100.00		Y		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$2,700.00	1 / lump sum	\$2,700.00		Y		
Product Code:	•	Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

OCWUT WT-0249-201-03 Base Bid: DEMOLITION OF FILTER 11 MEDIA AND UNDERDRAINS							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Archer Western Construction	First Offer - \$150,000.00	1 / lump sum	\$150,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$152,815.00	1 / lump sum	\$152,815.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT WT-0249-201-04 Base Bid: INSTALLATION, TESTING, AND COMMISSIONING OF FILTER 11 MEDIA AND UNDERDRAINS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Wynn Construction Co., Inc	First Offer - \$276,117.00	1 / lump sum	\$276,117.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Archer Western Construction	First Offer - \$444,000.00	1 / lump sum	\$444,000.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCWUT WT-0249-201-05 Base Bid: MANUFACTURERS FIELD SERVICES								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Archer Western Construction	First Offer - \$39,600.00	1 / lump sum	\$39,600.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$53,460.00	1 / lump sum	\$53,460.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCWUT WT-0249-201-06 Base Bid: MISCELLANEOUS WORK ITEMS						

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Archer Western Construction	First Offer - \$1.00	1 / lump sum	\$1.00		Y
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$55,186.00	1 / lump sum	\$55,186.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

OCWUT WT-0249-201-07 Base Bid: CEMENTITIOUS MORTAR REPAIR								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Wynn Construction Co., Inc	First Offer - \$255.00	15 / square foot	\$3,825.00		Y			
Product Code: Supplier Product Code:								
Agency Notes:	Supplier Notes:							
Archer Western Construction	First Offer - \$354.00	15 / square foot	\$5,310.00		Y			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						

OCWUT WT-0249-201-08 Base Bid: EXPANDING POLYURETHANE RESIN CRACK INJECTION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Archer Western Construction	First Offer - \$185.00	100 / linear foot	\$18,500.00		Υ		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$222.00	100 / linear foot	\$22,200.00		Υ		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					

OCWUT WT-0249-201-09 Base Bid: EPOXY RESIN CRACK INJECTION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Archer Western Construction	First Offer - \$140.00	10 / linear foot	\$1,400.00		Υ			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$267.00	10 / linear foot	\$2,670.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						

OCWUT WT-0249-201-10 Base Bid: FOUNDATION SOILS STABILIZATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Archer Western Construction	First Offer - \$57.00	1000 / pound	\$57,000.00		Y			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$68.00	1000 / pound	\$68,000.00		Y			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						

OCWUT WT-0249-201-11 Base Bid: JOINT CLEANING AND REPAIR								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Archer Western Construction	First Offer - \$474.00	30 / linear foot	\$14,220.00		Υ			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$547.00	30 / linear foot	\$16,410.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						

Supplier Totals

f Wynn Const	ruction Co., Inc	\$688,788.00 (11/11 items)	
Bid Contact	Rick Thompson bid@wynnconstruction.com Ph 405-753-1120	Address 11901 North Eastern Ave. Oklahoma City, OK 73131	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:
f Archer West	tern Construction	\$767,131.00 (11/11 items)	
Bid Contact	Jeffry Polak jpolak@walshgroup.com Ph 972-457-8500 Fax 972-457-8501	Address 1411 Greenway Drive Suite 103 Irving, TX 75038	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes: F	lead Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.